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The value of   is

(a)  (b)  (c)  (d) 

[ ( ) + ( )] dx∫ 4
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The value of   is 

(a) 4  (b) 3  (c) 2  (d) 0
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If 

(a) cos x - x sin x  (b) sin x + x cos x  (c) x cos x  (d) x sin x

f(x) = t cos tdt,  then  =∫ x

0
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The area between y  = 4x and its latus rectum is
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The value of   is

(a)  (b)  (c)  (d) 

x dx∫ 1
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1
11000

1
10100

1
10010

1
10001

The value of   is

(a)  (b)  (c)  (d) 

∫ π

0
dx

1+5cos x

π
2 π 3π

2 2π

If   then n is 

(a) 10  (b) 5  (c) 8  (d) 9
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The value of 
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The value of    is

(a)  (b)  (c)  (d) 
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The value of   is

(a)  (b)  (c)  (d) 

dx∫ ∞
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If  then a is

(a) 4  (b) 1  (c) 3  (d) 2

dx =∫ a
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The volume of solid of revolution of the region bounded by y = x(a − x) about x-axis is

(a)  (b)  (c)  (d) 
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If , then one of the possible value of a is

(a) 3  (b) 6  (c) 9  (d) 5

f(x) = du,x > 1 and  dx = [f(a) − f(1)]∫ x

1
esin u

u
∫ 3

1
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The value of   is

(a)  (b)  (c)  (d) 

dx∫ 1
0 ( x)sin−1 2
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The value of   is

(a)  (b)  (c)  (d) 

dx∫ a
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If  , then the value of f (1) is

(a)  (b) 2  (c) 1  (d) 

f(t)dt = x + tf(t)dt∫ x

0 ∫ 1
x
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 The value of   is ∫
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The value of   is
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For any value of   is

(a)  (b)  (c) 0  (d) 2

n ∈ Z, [(2n + 1)x]dx∫ π
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The value of   is

(a)  (b)  (c) 0  (d) 

x cos x dx∫
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The value of   __________

(a)  (b)  (c)  (d) 0

∫
π

2
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If   then __________

(a) f(2a -x) = - f(x)  (b) f(2a - x) = f(x)  (c) f(x) is odd  (d) f(x) is even

f(x)dx = 2 f(x)∫ 2a
0 ∫ a

0

The value of   is __________

(a) 0  (b)  (c) 2  (d) 4

x  x dx∫ π
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The area enclosed by the curve y =   , the x - axis and the lines x = 1, x = 3 is __________

(a) 4  (b) 8  (c) 13  (d) 4
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The area bounded by the parabola y = x  and the line y = 2x is __________

(a)  (b)  (c)  (d) 
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If   __________

(a)  (b)  (c)  (d) 

f(x)dx + f(2a − x)dx =∫ a

0 ∫ a

0

f(x)dx∫ a

0 2 f(x)dx∫ a

0 f(x)dx∫ 2a
0 f(a − x)dx∫ 2a

0

 = ...............

(a) -1  (b) 1  (c) 0  (d) 2

x dx∫ 1
−1

The area enclosed by the curve y  = 4x, the x-axis and its latus rectum is ________ sq.units.
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The volume generated by the curve y  = 16x from x = 2 to x = 3 rotating about x - axis ......... cu. units

(a) 72π  (b) ㅠ  (c) 40ㅠ  (d) 80ㅠ  
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 ..............

(a)  (b)  (c)  (d) 

f(x)dx =∫ b

a

2 f(x)dx∫ a

0 f(a − x)dx∫ b

a
f(b − x)dx∫ a

b f(a + b − x)dx∫ b

a

 __________

(a) 0  (b) 2  (c) log 2  (d) log 4

dx =∫
π

2

− π

2

sinx
2+cosx

The value of   __________

(a) -log 2  (b) log 2  (c) -log 3  (d) log 3

tanx dx∫
π

3
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(a)  (b) 0  (c)  (d) 

dx =∫
π

2
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The volume when    from x = 0 to x = 4 is rotated about x-axis is .................

(a)  (b)  (c)  (d) 

y = 3 + x2
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 __________

(a) 3  (b)  (c) 0  (d) 6

log( )dx =∫ 1
−1

3−x
3+x

3
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 __________

(a)  (b)  (c) 0  (d) 1

xdx =∫ 0
−π/2 sin7

π
2 xdx =∫ 0

−π/2 cos7

The volume of the solid obtained by revolving  about the minor axis is __________

(a)  (b)  (c)  (d) 

+ = 1x2
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The volume, when the curve   from x = 0 to x = 4 is rotated about x axis is __________

(a)  (b)  (c)  (d) 
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The volume, when the region bounded by y = x, y = 1, x = 0 is rotated about y axis __________

(a)  (b)  (c)  (d) π
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π
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π
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The value of   __________ 

(a)  (b)  (c)  (d) 

∫ π

0
dx

1+6tan x

π
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The value of   __________ 

(a)  (b)  (c)  (d) 

[ ( ) + ( )] dx∫ 3
−3 sin−1 +1x2

2
sec−1 2
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The value of   __________ 

(a)  (b)  (c)  (d) 

(1 − x dx∫ 1
0 x5 )5

1
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5
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The value of   __________ 

(a)  (b)  (c)  (d) 

dx is ∫ 2
0 ( )4 − x2− −−−−√

3

π
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2
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The value of   __________ 

(a) 1  (b) 2  (c) 0  (d) 4

(sinx + cosx)dx∫ π

0

The value of   __________ 

(a) 0  (b) 2  (c) log 2  (d) log 4

dx∫
π

2

− π

2

sin x
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The differential equation of all circles with centre at the orgin is _______

(a) xdy + ydx = 0               (b) xdy - ydx = 0   (c) xdxy + ydy = 0   (d) xdx - ydy = 0 
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The area bounded by the parabola y  = x and its latus rectum is __________

(a)  (b)  (c)  (d) 
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The area bounded by the line y = x , x axis x = 1 and x = 2 is __________

(a)  (b)  (c)  (d) 3
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The ratio of the volumes generated by revolving the ellipse   = 1 about major and minor axes is __________

(a) 4 : 9  (b) 9 : 4  (c) 2 : 3  (d) 3 : 2 
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